William George Horner

Born: 
1786 in Bristol, England
Died: 
22 Sept 1837 in Bath, England
William Horner was educated at Kingswood School Bristol. At the almost unbelievable age of 14 he became an assistant master at Kingswood school in 1800 and headmaster 4 years later. He left Bristol and founded his own school in 1809 in Bath. 

Horner's only significant contribution to mathematics was Horner's method for solving algebraic equations. It was submitted to the Royal Society on 1 July 1819 and was published in the same year in the Philosophical Transactions of the Royal Society. 

Some years earlier Paolo Rufini had described a similar method which had won him the gold medal offered by the Italian Mathematical Society for Science who had asked for improved methods for numerical solutions to equations. However neither Rufini nor Horner was the first to discover this method as it was known to Chu Shih-Chieh 500 years earlier. 

In the 19th and early 20th centuries Horner's method has had a prominent place in English and American textbooks on algebra. It is not unreasonable to ask why that should be. The answer lies simply with De Morgan who gave Horner's name and method wide coverage in many articles which he wrote. 

After Horner died in 1837 his son, also called William, carried on running the school in Bath. 

Quelle: www-history.mcs.st-and.ac.uk/history/Mathematicians/Horner.html
Anwendungsbereiche des Schemas nach Horner
(
Funktionswerte ganzrationaler Funktionen berechnen


(natürlich auch Nullstellen)

Gegeben sei die Funktion f mit 
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Setzt man zur Berechnung eines Funktionswertes für x eine Zahl in das gegebene Polynom ein, so kann das zu einer umständlichen Rechnung führen. Um die Zahl der Rechenschritte  zu verringern, formt man den Funktionsterm folgendermaßen um:
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Diese veränderte Form des Funktionsterms führt bei der Berechnung des Funktionswerte zu einer Kette folgender einzelner Rechenschritte: Beispiel: x = 3






Übungen:


a)
Bilden Sie aus folgenden Polynomen sog. Horner-Polynome:
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b)
Bilden Sie aus folgenden Horner-Polynomen die Polynome:
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c)
Erstellen Sie mit Hilfe von Excel ein Programm, das durch die Eingabe 

der entsprechenden Koeffizienten der Funktion und des x-Wertes den 

Funktionswert mit dem Horner-Schema ermittelt


d)
Berechnen Sie per Hand die Funktionswerte f(1), f(-1), f(3), f(1/2) und 

f(-2,5) aus den Funktionen von a).

Weitere Anwendungsbereiche bzw. –möglichkeiten:

(
Berechnung der Funktionswerte der ersten n Ableitungen
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Formelansicht:
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(
Restterme einer Linearfaktorabspaltung (Ergebnis einer Polynomdivision)

(
Umwandlung von Dual-, Oktal- bzw. Hexadezimalzahlen in Dezimalzahlen


Bsp. 1: Wie lautet die Dualzahl 11100101 (2)  als Dezimalzahl?


Lösung:
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Bsp. 2: Wie lautet die Zahl 24201231 (5)  als Dezimalzahl?


Lösung:

(
Entwicklung von Polynomen an der Stelle x = x0  
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